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îF t=1

t

1
(2, ) 1

ˆˆ arg max ln( ( ,..., ; , ),
N

t t
d

t

c u u R

c u d )1 t

c u d

d

)

'

1

1 1

1

dd

d
j

J

d
1

1

1
1/

y t u t ud
1

1
1

1 0,43915 0,35106 0,42894 0,40650
1 0,34603 0,41403 0,39474

ˆ .1 0,36801 0,31426
1 0,37423

1

R



41

oczeki-
wana
stopa

zwrotu

x1 x x3 x4 x5
VaR ES

-0,002

-0,001

0

0,001

0,002

0,003

0,004

0,005

-

oczeki-
wana
stopa

zwrotu

x1 x x3 x4 x5
VaR ES

-0,002

-0,001

0

0,001

0,002

0,003

0,004

0,005



Rys. 1. 

0 0.05 0.1 0.15 0.2 0.25 0.3 0.35
-2

-1

0

1

2

3

4

5
x 10-3

VaR

O
cz

ek
iw

an
a 

st
op

a 
zw

ro
tu

kopula+EVT

Markowitz

Rys. 2. 

0 0.05 0.1 0.15 0.2 0.25 0.3 0.35 0.4 0.45
-2

-1

0

1

2

3

4

5
x 10-3

Expected shortfall

O
cz

ek
iw

an
a 

st
op

a 
zw

ro
tu

kopula+EVT

Markowitz



43

7. Podsumowanie

-

Literatura

-

-

-

-
nr




